Physics 11:  Unit2 Test Dynamics 2019 VerD1 Name: [[QL/
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Remember to first write down the equations before replacing with numbers, show all your work!!

1) A 400 kg Spaceship is orbiting Mars 2.45 x 107 m above its surface.
What is the Mars’s gravitational field strength at this height? Myors = 6.39 X
102 kg and 1hyars = 3.39 X 105m
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3) State Newton's 3rd Law of Motion 7
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4} Santa weights 287.2 N on Mercury
a) What is his mass on Mercury?

= Acceleration Due to Gravity,
b} What is his mass on Earth? “g” [m/s?]
¢} How much would Santa weight if he is on earth? Mercury (359
d) Santais riding in an elevator. Determine his apparent weight when he starts | Venus 8.87
to move downward with an acceleration of 1.23 m/s2. {drawing a FBD will ﬁarth g?;
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5) Two elves and are pushing a 250 kg Santa’s sleigh to the next house. EIf A can push with a'force of 1225 N
and EIf B with a force of 850 N. Assumning no friction force, find the acceleration of the sleigh:
a. if they are physics elves who know that they should both push from the back [to Right].
~ b. they are biology elves who decide that EIf A should push on the back [Right] while EIf B pushes on the
front [Left].
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6)  Inthe diagram below two masses is attached by a string over a pulley. Find the accéleration of the system
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6) Two masses are attached by a string over a pulley as shown. If my = 35 kg and m; = 63 kg (on table):
a. Drawing the FBD of both boxes on the diagrams &6314
b. Calculate the acceleration of the system if the table has a F m o?-; @
coefficient of friction y = 0.2 A i
c. Find the tension in the string &
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